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Matrices0l Answers for No.3
ExerciseMatrices0l Answers for No.3

13 2 3
5025 2 2 )
-7 -9 )
_ |2 4 2 -2 12 |
Ans,=[-2 1 -3], ,Ans;= 6 1F ,Ans6—[_10 5 6}’ |y
18 o
8 3 111 )|
Ans; = "undefined", , dnsg=| -8 0|, ,Ans,=|15 -4\, , Ans,,="undefined", > "(
13 -8 7 9 !
7 2)
0 -8 -6 Y | 2 4 .
Ans”:[o 5 21}’ , Ans,, = "undefined", , Ans,;;=| 6|, °A”514:[_2 _2}’ |
11 ’
2)
13 -15 -2
17 -11 11 2 :
Anss=|-15 18 04, ’A”Sm:[ ! } , Ans,; = "undefined", ,Ansm:[ 3}, | -l
a1 22 5 28 o
-2 0 8 !

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKXXXKKKKXKXKKKX KKK KKKK KX KKKK XX KKK KKK KKK KKK KKK KX KKKKKX



